
Mounting 
Accessories
Types of Packaging

DES.N.000.I5.02 Produced by Secop GmbH, jb, 06.2024

PRODUCT
BULLETIN

Secop accepts no responsibility for possible errors in catalogs, brochures, and other printed material. Secop reserves the right to alter its products without 
notice. This also applies to products already on order provided that such alterations can be made without subsequential changes being necessary to 
specifications already agreed. All trademarks in this material are the property of the respective companies. Secop and the Secop logotype are trademarks of 
Secop GmbH. All rights reserved. 

Secop GmbH
Lise-Meitner-Straße 29
24941 Flensburg
Germany
Tel: +49 461 4941 0
www.secop.com

Mounting Code
number

Bolt / pin 
dimension

Comp.  
base hole Type of packaging Compressors Parts list

Bolt joint 118-1917 M6 metric 16 mm Single pack for one compressor P- / T- / D- / KL- / N- / F- / S-Series 
K-Series / BD Micro / BD-P / BD-T I

Bolt joint 118-1918 M6 metric 16 mm Industrial pack in any quantity P- / T- / D- / KL- / N- / F- / S-Series 
K-Series / BD Micro / BD-P / BD-T I

Bolt joint 107B9150 M8 metric 19 mm Single pack for one compressor G-Series II

Bolt joint 118-1946 1 / 4 inch 16 mm Single pack for one compressor P- / T- / D- / KL- / N- / F- / S-Series III

Bolt joint 118-1949 1 / 4 inch 19 mm Single pack for one compressor all with 19 mm base holes (except G-Series) IV

Snap-on 118-1947 Ø 7.3 mm 16 mm Single pack for one compressor P- / T- / D- / KL- / N- / F- / S-Series
BD Micro / BD-P / BD-T V

Snap-on 118-1919 Ø 7.3 mm 16 mm Industrial pack in any quantity P- / T- / D- / KL- / N- / F- / S-Series
BD Micro / BD-P / BD-T V

Bolt joint 118-1960 – 11 mm Single pack for one compressor BD Nano VI

Snap-on 118-1959 – 11 mm Single pack for one compressor BD Nano VII

Parts list (4 pcs. per compressor needed) Symbol drawings

I

Sleeve Ø 8 mm x 6.4 mm x 0.8 mm 112-2052

Washer Ø 20 mm x Ø 6.7 mm x 1 mm 112-2053

Bolt M6 x 25 mm 681X1130

Nut M6 118-3659

Rubber grommet 16 mm 118-3661

II

Sleeve Ø 11 mm x 8.6 mm x 1.2 mm 107B9152

Washer Ø 20 mm x Ø 8.8 mm x 1.2 mm 107B9155

Bolt M8 x 40 mm 107B9153

Nut M8 107B9154

Rubber grommet 19 mm 107B9151

III

Sleeve Ø 8.3 mm x 6.7 mm x 0.8 mm 112-2088

Washer Ø 20 mm x Ø 6.7 mm x 1 mm 112-2053

Bolt 1 / 4 x 1 inch, 20 UNC 119-3002

Nut 1 / 4 inch, 20 UNC 119-3031

Rubber grommet 16 mm 118-3661

IV

Sleeve Ø 9.5 mm x 7.9 mm x 0,8 mm 112-2085

Washer Ø 20 mm x Ø 6.7 mm x 1 mm 112-2053

Bolt 1 / 4 x 1 1 / 4 inch, 20 UNC 119-3002

Nut 1 / 4 inch, 20 UNC 119-3031

Rubber grommet 19 mm 118-3666

V

Steel pin 118-3586

Washer Ø 21 x Ø 8.1 mm x 0.9 mm 118-3588

Clip 118-3585

Rubber grommet 16 mm 118-3661

VI

Bolt, length of thread: M5 x 8.5 mm 118-3672 Washer

Clip

Steel pin

8966
Rubber grommet Rubber grommetWasher

Bolt

Washer Ø 15 mm x Ø 5.3 mm x 1.4 mm 118-3591

Rubber grommet 10 mm 118-3671

VII

Steel pin 118-3589

Washer Ø 14 mm x Ø 7.4 mm x 1.6 mm 118-3590

Clip 118-3585

Rubber grommet 10 mm 118-3671


